B e HBB&5E 3 EFETBLIBEH a DIEDEEEH ?

x?4+2x—15>0 -e-(D
{ r’—(a+1)z+a<0 @

ghb60166 = FL E#=EREl



B e HBB&5E 3 EFETBLIBEH a DIEDEEEH ?

r’+2x—15>0 INC))

{:132—(a—|—1)w—|—a<0 @
D&D (z+5)(z—3) >0BDT

r<—5, 3<xz @

ghb60166 = FL E#=EREl



B e HBB&5E 3 EFETBLIBEH a DIEDEEEH ?
{m2+2x—15>0 (D
r’—(a+1)x+a<0 @

D&D (z+5)(x— 3)>080T
r<—5 3<x @

@&D (z—1)(x—a)<0BDT

a<lDEZER a<x<l1
a=1DEEE BEUL
a>1DESETRF 1<xzx<a

SESES



(i) a<l1DEEE

@' /
@’ ®

ghb60166 = FL E#=EREl




(ii) a=10D&EEE

ﬁ—@ﬁ&ﬂ+1<0ﬂ BlaL &7135DT.
BEEEZ 3SEHDZ &L,

ghb60166 = FL E#=EREl



i) a>1D&EEE

ghb60166 = FL E#=EREl




	anm1: 
	1.19: 
	1.18: 
	1.17: 
	1.16: 
	1.15: 
	1.14: 
	1.13: 
	1.12: 
	1.11: 
	1.10: 
	1.9: 
	1.8: 
	1.7: 
	1.6: 
	1.5: 
	1.4: 
	1.3: 
	1.2: 
	1.1: 
	1.0: 
	anm0: 
	0.21: 
	0.20: 
	0.19: 
	0.18: 
	0.17: 
	0.16: 
	0.15: 
	0.14: 
	0.13: 
	0.12: 
	0.11: 
	0.10: 
	0.9: 
	0.8: 
	0.7: 
	0.6: 
	0.5: 
	0.4: 
	0.3: 
	0.2: 
	0.1: 
	0.0: 


